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General Instruction:

i. Question paper comprise Six Sections - A, B, C, D, E and F. There are 37 questions in

the question paper. All questions are compulsory.

ii. Section A - From question 1 to 20 are MCQs of 1 mark each?

iii. Section B - Question number 21 to 24 are Very Short Answer Type Questions. Carrying 2
marks each. Answer to each question should not exceed 40 words.

iv. Section C - contains Q. 25 to 29 are Short Answer Type Questions. Carrying 3 marks

each. Answer to each question should not exceed 60 words.

v. Section D - Question number 30 to 33 are long answer type questions. Carrying 5 marks
each. Answer to each question should not exceed 120 words.

vi. Section E - Question number 34 to 36 are case based questions with three sub questions and are
of 4 marks each.

vii. Section F - Questions no. 37 is map based, carrying 5 marks with two parts, 37a from
History (2 marks) and 37b from Geography (3 marks)

viii. There are no overall choice in the question paper. However, an internal choice has

been provided in few questions. Only one of the choices in such questions have to be

attempted. ix. In addition to this, separate instructions are given with each section and question,
wherever necessary.
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Which of the following statements are true?

(a) 96.5 per cent of the total volume of world’s water is estimated to exist as oceans
and only 2.5 per cent exists as fresh water

(b) 70 per cent of the fresh water occurs as ice sheets and glaciers in Antarctica,
Greenland and the mountainous regions of the world.

(c) India receives nearly 4 per cent of the global precipitation.

(d) All of these

FRerferied w9 i 97 981 82

(37) SITAT g o AT 3 97T T et AT AT 96.5 T 9rd HgMENIl & €9 § HIS[E g AT fad
2.5 Ffcrerd aTst 971 & &9 H #IS(E 2

() 70 TITITT ATSIT ITT STeTehicehT, et T AT & TTET &= § I il ATGL AT AT
&9 H AT 8l

() AT § AT AT T ATAT 4 Traerd I grav gl

(@) T TAT

02

Which of the following refers to print revolution?
(@) Invention of printing press

(b) Shift from hand printing to mechanical printing
(¢ ) Revolt of people against printed matters

(d) Handwritten manuscripts for printed books

Rerferfera & & #19 qxor i w1 J2i9T Fear g2
(37) fifeaT 9 =7 sfasrTe

() ST & TEOT & FTT0 T il AT TaeATa

() o AT & [GaTs A0 A7 @ae

(F) Fhad TEahi * (o0 geatortaa grgferfogt

03

Identify the painting from the options given below.
= faw T et § | 9T it agaT|

- \_ =
e, AP

a. Frankfurt Parliament

b. Reichstag

c. Duma

d. The House of Parliament
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Note: The following question is for Visually Impaired Candidates only in lieu of Q. No. 03




Q. Which of the following does the symbol “crown of oak leaves “stand for? a. Freedom b. Shows
readiness to fight. c. Willingness to make peace. d. Heroism.

e T 9 T 03 F o ) AT v waw gRarfaa seficai s o g
. "3 & Ol T qEe" AufertEd § 7 T wdiE 22
o) TAAAAT ) A= T AT femrar g, =) onifa s it Teer. 7)) Awar.
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Which of the following features are common between India and Belgium in forms of power
sharing?

(A) power is shared among government at different levels
(B) Power is shared among different organs of government
(C) power is shared among different social groups
(D) power is shared among different parties and takes the forms of competition
(@ A,B,C,D (b) B,C and D (c)AandC (d)A,CandD
AT AT o &9 § AT i¥ dfesray & $i= Faferfed § ¥ #i= o fHorward uF st 22
(37) T FAT9er T2 9% |1 o 1= qTAT Al AT &
() T ALHRTL o TATHT ST = qreAT i et @
(&) Tt At AT agt & = qrE i At g
(%) T FATSrer &= % &= AT T SATAT S Aaeqd T 7 €9 oAdT g
E) T &L ST @) & e S (@ THARH  (I) T, =T AT
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Consider the following statements on power sharing and select the answer using the codes
given below:

(@) It is the very spirit of democracy.
(b) It reduce the possibility of conflict between social groups
(c) It brings transparency in the governance.

(d) It brings socio-political competition among parties.
@ A,BandC
(b) B,Cand D
(c)A,Cand D
(A, Band D

AT TR 92 et HAA1 9% F= i i 9= R0 T Fie 7 ITIRM Hh 39 9
(37) T ARG i T ATAAT 5

() T ATHTISNE THGT o 1< oY il FATAAT Hl HH FLAT

() Tg 9TE | ITEafeTar |rar gl

(%) T TTIEAT o S ATHTSTR-TST T STaeqe T arar gl

(31) T, AT ST AT

EERIERSE]

() T, & AT S

(@) T, dT T =

06

Consider the following statements on political parties
(a) Political parties do not enjoy trust among the people
(b) Top leaders of parties are involved in scandals.

(c) Parties are not necessary to run governments.
Which of the statements given above are correct?
(A)A,Band C

(B) Aand B

(C)BandC

(D) Only C

Tt gt g2 fmeterfera sweat o< fa=me fifeo -
(37) TTSTAITreh Tl T ANTT o = (ersaTe gTiee 981 2
() Tt o oY SqT =JeTel § ATHT B

() TLHRTE AT o o0 T ATF9TF A5l 2|

SO [T 0 AT § F R AT AL 82

(37 ) T, 1 e A

(F) TS AT

GELERS:

() Fae =T
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What is the most function of money?
(A) Used in banking transactions
(B) Payment of loans
(C) Medium of exchange
(D) Stock market exchange

O T Hed FET 14 FAT 872

o) ST e | ITANT TR ST @

08

There are two statements given below marked as Assertion (A) and Reason (R). Read the
statements and choose the correct option.

Assertion (A): Democracies are based on political equality.
Reason (R): All individuals have equal weight in selecting representatives.

(@) Ais true but R is false.
(b) A is false but R is true.

(c) Both A and R are true and R explains A.
(d) Both A and R are true but R does not explain A.

= &7 e R T € e sTf9ehae (1) i 1T (7)o =9 | rfesa B w21 waet &
REE S EHREETE R C

ST (T): AR TSI T FHTAAT 92 ST gl

RTOT (JTY): TTAATET o =3 | 997 =A<ra1 &7 Aged T919 2|

(37) T T g AT AT T 2|

(F) TIAT g ATeheT ATC T g

() T T AT T 9T ¢ ST Y, T aht SATEIT F3aT gl

(F) T T AT TAT A g ATehel 3T, T 3T ATEAT Agl wedT gl
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Choose the correct option to complete the statement. If a government provides its citizens a
right and means to examine the process of decision, it is.

a. An accountable government. b. A responsible government.

c. A transparent government. d. A stable government

AT T I LA o (70 Hal (ashed I | T(S FHils TLRTT T ARTERT [ (F07T 3hT TRaT it
ST 3Tl T STTARTE 3T ATe T Fdl g, a7 I8 g

3. Ueh SdTeag 9L F. TF e 9T

. U el AT T, U RUT AR
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Why did the Indian Government restricted foreign trade after independence?
(A) To protect domestic producers
(B) To increase competition
(C) To know the international level of quality
(D) All of the above

ATl o aTE 1o gt o fageft s gw afase =1 = fr=r?

(31) =Y STATEeRT il LT o o0
() TTaETdT FET & [T
(F) IOTETT % AALET TIL I A & [T
(F) TR TT
11 | What is the main source of income of a bank?
(a) Bank charges that the depositors pay for; keeping their money safe is the main; source of
the bank’s income.
(b) The difference between what is charged from the borrowers and paid to the depositors
is the main source of bank’s income.
(c) Banks earn huge amounts of money by investing the money of the depositors in various
company shares.
(d) The Government of India gives huge amounts of money to the banks to help their
smooth functioning.
< T AT T q&T HTT 4T 52
(37) S [ TSTEehT AT STHTSHAT X &; Ieh O ol GITd 1@ H&d &; S il o &1 &7
BT 2l
() IATTHATAT & ST [ ToIAT SATAT & AT STHTRATAT ] qIAATT 63T SITAT &, I ST T (L
% T S AT 4T AT 2
() o STHTRATAT o O ol [T FOAT A § (Haer Hiveh a81 90T § 997 FA1d 2
(F) ATLT HLHRTE ol I SeTeh TATE HTHHTS | HEE 6 (70 G271 AT H & a1 g
12 FReligion can never be separated from politics “is said by?
(A) BR Ambedkar
(B) GK Gokhale
(C) Mahatma Gandhi

(D) Swami Vivekanand
“STFT T BT AT TSI & ST Agl (oh AT ST qeha 1’ Fgl STl g2

EIEIEEEEEET




EEIERIEE
() FETcHT ieft

(3) TaTHY e

13

If there is a disruption by transporters and lorries refuse to transport vegetables, milk, etc. from
rural areas to urban areas, food will become scarce in urban areas, whereas farmers will be
unable to sell their products. Which of the following sectors will be affected due to this situation
stated above?

a. Primary and Secondary

b. Secondary and Tertiary

c. Tertiary, Primary and Secondary
d. Tertiary and Primary.

T ST G SAFLTT ST (ohaT STTAT g 3T SATLT ATEIT &1 =1 & gy &= § qioodT, 39
STTe TRaE FA § TARIL T 8, AT A& &A1 | AISIT GAH gl SO, STafeh har o
STITE o= | WY g 9T Fq1e T2 = Rufa & swreor Faferfa § & w9 |7 & yarteq
2IT?

o) I ST AT THE

) WTEATHE 3T AT
W) AT, I ST Area i
T) qATHH 3T qTATHF
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Choose the right option to fill in the blank.

The emergenceof.......... is directly connected to the rise of political parties.
a. Monitory democracies

b. Direct democracies

c. Representative democracies

d. Constitutional democracies

Rh T T 99 o o0 9t faered &7 =9+ #7)
............. & TG T HGT HGL TSI Tl 6 3T 9 g

) It AR
) TTE AT
q) iafte qrehaT
T) HALTHF AT
15 |Which among the following are examples of ‘Coming together federations’?
(@) India, Spain and Belgium
(b) India, USA and Spain
(c) USA, Switzerland and Australia
(d) Belgium and Sri Lanka
Fofied o ¥ ®IF 91 T 1Y M1 aTdl Tl BT IGT6R0T 62
(31) HIRd, T 3R afcsraH
(@) HIRd, 3R 3R W
(@) ety 3R it
16 | Which one of the following is the main cause of land degradation in Gujarat and Madhya
Pradesh?
(@) Intensive cultivation (b) Deforestation (c) Over irrigation  (d) Overgrazing
TToRTd 3R 7eg Uex1 # Yy iR &1 g7 sRul Fafafed d ¥ e ar g2
(31) T8 Wl @A BHer @ AMERER () 3G RIS
17 Which one of the following was the main reason to withdraw Non-cooperation

Movement?

(a) Movement turning violent

(b) Leaders were tired and they wanted to participate in elections
(c) Satyagrahis needed to be trained

(d) All the above.

SIIGTNT TEITH P aTI A &1 P HRUT FAgfRad & 9 &1 91 U2
(31) 3ficia &l g 8l S
() =T Yo §U A 3R d G H YT T I8

@) TRl B UfRIférd H= ot gz At




(@) SIRIad T |
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Arrange the following in the correct sequence: Certain events are given below. Choose the
appropriate chronological order:

(i) Simon Commission. (ii) The First World War.

(iii) Poona Pact. (iv) Gandhi Irwin Pact

(@) (i) - () - (iv) - i) (b) (i) - (i) - (iv) - (i)

() (iv) - (ii) - (i) - (iii) (d) (i) - (i) - (i) - (iv)
FofaRad &1 U8t 8 § HafYd B $S geIE -id &1 T8 ¢ |

UG PHICIeh Heh o I :

(i) AISHA HHIT | (i) 94H fay g5 |

(iii) AT AT (iv) TRt SRfa TwSiar
(31) (i) - (i) - (iv) - (iii) () (i) - (iii) - (iv) - (ii)
(X)) (iv) - (ii) - (i) - (iii) (<) (iii) - (i) - (i) - (iv)

19

Assertion (a): Forests plays a key role in the ecological system.

Reason (R): Forest are the primary producers on which all other living beings depend.
(@) Both A and R are true and R is the correct explanation of A.

(b)Both A and R are true but R is not the correct explanation of A.

(c)Ais true but R is false. (d)A is false but R is true.

YU (T): 9 IR & 7 U Hewaqu! yfirest v &1

BRI (3R): T UTUHE IdTeH & o TR 37 gt sfifad uroft Rk 81
(31) T 3R 3R S I & 3R 3R, T HT I8! WHHR B

(@) T 3R 3R A1 9 & AfPpT 3R, T b1 T& WS T8l 2|

) T g Afp 3R 7Tad g

() TTTAd g Afpd IR T B

20

A multinational company (MNC) is a corporate organization that owns and controls
Productions in more than one country.

Accordingly, which of following countries has the BEST potential for an MNC to be set up?
(@) Country W has a rich culture and ample biodiversity.

(B)Country X provides loans to foreign companies easily at high interest rates.

(c) Country Y has an educated workforce ready to work for affordable remuneration.
(d)Country Z has a rule which allows people from a spefic religion to conduct business freely.

TS SERIPRI HUAT (MNC) T PIURET T3 & Ol T F 31 <= H IeTe Wit $iR
fyd=or Tt ]

ded9R, Fafafed § 9 fg 3§ MNC R &7 &) T it GHTaHT 87

(30) SV S=Y H T T TIpTa 3R qafed Sig fafaear 21

(@) <21 Ty facelt Sufal ol 3= STl =1 R 3 T BT UeH &l |

() < a3 H U RAférd Hrdad § S fewradt aiksfie R &1 1 & i dur |

(@) S 9 A T Fad § ot U fafRiy 4wl & @il ) o U ¥ AUR 6’ &I SAfd
csild




SECTION B

VERYSHORTANSWERQUESTION(2X
4=8)

21

Name the elements that helped to create the globalized world.
S qcAl o ATH JATe U (Sgid = 1hd 3 & =i § 733 il

22

Write two characteristics of intensive subsistence farming.

e Hatg @t it &1 fFervary o)

23

Mention any two key features of federalism?

AT 6T Fls & THE [FOUare aarsu?

24

Define majoritarianism.

TEHEIHATE il TLATOT i

SECTIONC

SHORTANSWERBASEDQUESTION(3X5=15)

25

Mention the factors which were responsible for creating a virtual reading mania in Europe?

S LT T Joolg Y ST TLT H ATATET TS ITHTR TaT i o oIy R/enere a7
Or
Why did woodblock method become popular in Europe?

qSa i Tald JAT H FT AHIT o2

26

“Agriculture gives boost to the industrial sector.” Justify the statement with
Any three relevant points.

“FT SATATRIE &5 I GETaT adl g1” TH HAT 6l T2 Hfo0
SIESIEICINEREEY

27

How are the powers divided between the states and center? Explain with examples.

TS 37T g o a1 oTfRAT T SfeaTer il graT 82 SITE Aigd aHETS |

Or

Why has federalism succeeded in India? Which are the policies adopted by India that have
ensured it? Explain.

AT § HHETE F1 6 gall §7 & AT G127 I | Aad7 et T8 e =8 gt
Rt 22 =TT il |

28

Explain reasons for the rising importance of the tertiary sector in India.

AT H AT &7 % d@d Hacd & 0 ! AT it
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How are the three sectors of economy interdependent? Explain.

ST FEdT o I & Ueh g8 % il (99 82 ST T

SECTION-D

LONGANSWERBASEDQUESTION(5X4=20)

30

Explain any five reforms introduced by Napoleon in the regions under his control.

AT GIT O (RI=707 aTeT &1=11 § 9[% [0 U foheg | af= T ol ATEAT i oI

Or

How did culture plays an important role in creating the idea of nation in Europe? Explain with
Examples.

TT H 1Y o =T o A1 # SEhta 7 o T Agca ot et MaTE? SITer & a1
FHEATT]

31

How is the mining activity injurious to the health of the miners and environment? Explain.
A AT @il o TaTesT 3T T & (70 (e TRTT ZITHRTH g2 SATEAT il |

Or
Minerals are an indispensable part of our lives. Justify this statement with suitable examples.

I TAST SHTY ST &1 U A aTd [GEaT g ST SETg 0Tl 1T 36 2 %l (2 Hiforul

32

Define ‘Political party’. Write the major functions of political parties.

TSI T 3l TEATIUT 2| TSI Al o T T (g
OR
Suggest and explain any five measures to reform political parties

TSI Gl § T & 70 Fils T SUTT ATV 3T GHATY

33

“Cheap and affordable credit is crucial for the country’s development.” Assess the statement.

. “TEAT 3T TRt 0T 397 % e forw gyt ") HAF T AT Al

Or

“The credit activities of the informal sector should be discouraged.” Support the statement with
arguments.

A TTATI &5 %l 30T MIA TS AT garcaTiad gl ATgy” | Teh qigd HAT HT THHT FL|

SECTION E

CASEBASEDQUESTION(4X3=12)

34

Read the following passage and answer the questions.

Gandhiji decided to launch a nationwide satyagraha against the proposed Rowlatt Act (1919).
This Act had been hurriedly passed through the Imperial Legislative Council despite the united
opposition of the Indian members. It gave the government enormous powers to repress political
activities, and allowed detention of political prisoners without trial for two years. Mahatma




Gandhi wanted non-violent civil disobedience against such unjust laws, which would start with
a hartal on 6 April. Rallies were organised in various cities, workers went on strike in railway
workshops, and shops closed down. Alarmed by the popular upsurge, and scared that lines of
communication such as the railways and telegraph would be disrupted, the British
administration decided to clamp down on nationalists. Local leaders were picked up from
Amritsar, and Mahatma Gandhi was barred from entering Delhi. On 10 April, the police in
Amritsar fired upon apeaceful procession.

34. 1. On which date Gandhiji called for a nationwide hartal against Rowlatt Act?

34.2. Rowlatt Act was passed in which year?

34.3. How did Indian people oppose the Rowlatt Act? Write two ways.

FRerferferd srermer T 9¢ i 9o17 % 39 3|

TiEfiStt 7 geaTiad Teie Tae (1919) & [Eeg SqeATdt 9eg G & Hiid w1 HerdT (03T |
g Ata=aw TS aforeatea Frsfie gr SeaaTstt § a¥TIT IT4T AT, AT a1 T
farer o aras(E ot 9T ST AT, THT FEHTL T TSI TIA AT 7 G0 Feel il AT
QIRTT & & ST TSI e hiadl I [aaT HHaH 6 &l d1 a6 (| H L@ #hf A af 15|
HETCHT el TH STl AT & [GATh ATeae aia=d SAaaT argd o, St & 6 79
Tl gEATe 7 g5 . TAToer g2l § Yferat sarisrg & T, 7d Feheli™ § FHAT gEdrd 9% 9o T
ST qTH 97 BT TS 3T Tofd STET AT T ATSAT T @I T (AT SATE SIS g T,
AR I9TY, | =T ffeer wemres F 26 U< et 8 T FHAT AT, TrgaTar ST Jqrsi

T STAET | ISTAT AT, 3 AT Tieft &l T faeeit § Torer e & Tk 37 73T, 10 379 &0
SAHAHT § ATAqol S(ed 2 e = Tty i |

34, 1. ITTEfT ST o Trote Uae o farg § o ard ol SereATdr g2 aret T TEaTe AT A7?

34.2. Trete wee o a9 qriea &6 T am?

34.3. ATCAIT RN o Wi U 71 farer e werme e 21 a0+

o

KECR

1+
1+

35

Given the abundance and renewability of water, it is difficult to imagine that we may suffer
from water scarcity. The moment we speak of water shortages; we immediately associate it
with regions having low rainfall or those that are drought prone. We instantaneously
visualize the deserts of Rajasthan and women balancing many ‘matkas’ (earthen pots) used
for collecting and storing water and travelling long distances to get water. True, the
availability of water resources varies over space and time, mainly due to the variations in
seasonal and annual precipitation, but water scarcity in most cases is caused by
overexploitation, excessive use and unequal access to water among different social group.
1.Why it is difficult to imagine that we may suffer from water scarcity?

2.What do we visualise when we speak of water shortage?

3.Why the availability of water resources varies over space and time ?

TR %67 T=AT 3T TA T ONIaT &l a@d gU, g HeddT HLAT RIS g (o gH qTeT f wH T o

FATT g Tl . ST &1 gH TTH1 %l FHHT ol 9T Fd &, 89 28 3 9a3 L Ad 5
FH AT ATl AT FETIET &30 | | §H T TTSTeTH & LREqTAT ST HigaTall g STANT oy

ST ATl & Aeahl (T o addl) &l Sqierd Hed gu FHeadl HY Tl Shgl H A HSTIT FHiLd

T ITT 9T o {0 el g3 97 e o (o0 89 &, 57 G181 ol STAsdar €19 ¥ T80T

1+
1+




ST I THe- T ST & HIFHT ¥ JT0 a9, ATehe SATRTa HTHAT § TTHT T FHHT STATaH
R, AATIF ITANT ST AT ATHTS THg 1 o & (=9 qIA[ ] SATHT TgH 6 HIL0T 2T gl
1.7 FodT FTAT Hiod F41 ¢ (6 g8 IT=1 &f FH1 F =T g7 Td 52

0.5 H ITHT T T T ST Fd 8 a7 7 FAT FHodaT i 52

3. ST HHTEAT &l STASLAT TATH AT THT o AT (-9 FT gl g2

36

Read the source given below and answer the question that follows:

For comparing countries, their income is considered to be one of the most important attributes.
Countries with higher income are more developed than others with less income. This is based
on the understanding that more income means more of all things that human beings need.
Whatever people like, and should have, they will be able to get with greater income. So, greater
income itself is considered to be one important goal. However, for comparison between
countries total income is not such a useful measure. Since, countries have different populations,
comparing total income will not tell us what an average person is likely to earn. Hence, we
compare the average income which is the total income of the country divided by its total
population. The average income is also called per capita income.

(a) What does Per capita income means? 1

(b) In World Development Reports, brought out by the World Bank which criterion is used in
classifying countries? 1

(c) What is the criteria used by UNDP while comparing countries? 2

= o o = T 9 SR et e T 39 a:

ST T AT o o0 IeTehl 31T &l HaH Ageaqul [ALTdaratl | & Tah JHT a7 | SATerdh 3 ared
39T T AT ATl 3T 90T ol TAT § TEF [ARAd 3Id &1 g = THS I AT ¢ (o6 ATdH
ST T AT S THT V11 & ST g IAehT AeT T ATHAT g1 ST T AN I THE 5, AT
BIAT AR, AT Sre AT 3T & A1 T/ TR SHIOMT, STTEH ST 3T 3T § Ueh Agea ol
e TIAT SITAT | GTeATTeh, IV o 1= TAAT o (1T FHeA AT SAAT STAR(T IUTH qGl gl =ik, <90t
AT STETAT S-S &, T ST sl TAAT el | gH qg Aol TdT FRIT (o Tah S| A1k T
FHT ThAT | SETU, TH SHT AT HF TAAT FLd & ST 32T 1 FoT AT il IHeh! T TAEHEAT &
FerATioTT FedT g1 Siea T 1 I ==k T ot Fgl ST g

() T ST T<h 3T &7 97 TF 22 |

(=) Taea S G WhTter forsa farehrer T § 29 &1 avfishd e # (o7 e JT9ES 7 ST
feraT ST 82 1

(&) FeTt T AT Fd FHT LUAS T FTT ITANT T ST a1er ATES A7 82

SECTION-F

MAPSKILLBASEDQUESTION(2+3=5)

37

37 (a) Two features A, and B are marked on the given political outline map of India. Identify
these

features with the help of the following information and write their correct names on the lines




marked
in the map:

37 (T) AT U T T Tdsh SIL@T A= 92 &7 [=F99dr U, i & =ieqd gl 3

EAT

Frforferd STt 7 TgradT & FOrwarsti 7 93+ FY < 396 Tt 419 sifehd gieai ux ford
GIRLEER:R

(i) The place where cotton mill workers organized Satyagrha.

(if) The place where the Indian National Congress session of September 1920 was held.

(i) T T gl AT THT TGN F TATRIG T AT [ohAT AT|

(ii) g T STt Bda 1920 T AT TS HE T ATATord 63T 197 2T

Note: The following questions are for the Visually Impaired Candidates only in lieu of Q.No.
37(a) :

(1) The place where cotton mill workers organized Satyagrha.

(ii) The place where the Indian National Congress session of September 1920

was held.

ST & To7 HEAT o T I [MH e 7 hael groaniad SFHIEaTe & o g1 37(T):
(i) T2 T ST AT THA AN § TATRIE FT AT 03T 9T
(ii) T T STt A 1920 T ARAT TR FE AT gar o7

ST R T

37(b) On the given political outline map of India, locate and label the any three with appropriate
symbols :

A. Rajeev Gandhi International Airport B. Tarapur Thermal Power Plant

C. Paradeep Sea Port D. Salal Dam

37(3T) AR & o0 T TSI (e &@T G =r 92 (gl o9 0 g 3T ST & a1 e HY)
ER1ED

A. TS et ST gars STl AT, AT THA T e

C. TRT&IT FHa! daTg . FATT AT

Note: The following questions are for the Visually Impaired Candidates only in lieu of Q.No.
37(b) :

Any Three

(i) In which state is Tarapur thermal power plant located?(ii) Name the state where Bangluru
software technology park is located.

(iif) Name the state where Rajeev Gandhi international airport located.

(Iv) Name the state where Salal dam is located.

ST & To7 HEAT o T 9T [MH e 7 Fae groarad SFaan & o g1 37(3)
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(i) AT 2T qTa weie Foh| 157 8 Raa 82 (i) SH 1T &1 910 Jaq120 STl s aifedds
SIS qTeh 2T 8l

(iii) 39 TS T A9 TATSU g1 TS T FAXTST gaTs AT (99 &

(iv) 3T T5T &7 ATH TqT0 gl TATT Fief ooq g
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